
     474 HW 11 problems   (highlighted problems are the ones to turn in) 

 

 

 

  

 

 

    

    

    

 

  

 

 

 

 

11.11 

(#1) 

 

11.12b 

(#2) 6+6 

 

11.13a 

(#3) 6+6 

 

 

11.14 

(#4) 6 

 

11.15 

(#5) 

 

11.17 

(#6) 6+3+6 

 

 

 

11.18 

(#7) 

 

 

11.12b  Note that there 

are two things to show; 

use induction for both: 

(a) Every string in Bal 

can be derived from the 

grammar (easiest to show 

something more general  

by induction on the 

length of the string, and 

then use that to show this 

property); (b) every 

string that can be derived 

from the grammar is in 

Bal (easiest to show 

something more general 

by induction on the 

length of the derivation 

and then use that to show 

this property).  

 


